e T e )

SEries FRPE!

AN SR A WERTADZERELE T

FRP A L T\ I hREHEL)
e BRI TEERL
BUVKEME & R Ls— XSRS

2 EmLIP (BE&D)*

X*EAHEH KPR BECETD,

| EET A

FHEEDHEBRIEVZLET,

IEECEwy =

F3%Y &KB5LERE (8417 : )
m B A B © t
F3-300 | 350 | 350 | 200 | 72
F3-350 | 400 | 400 | 200 | 72
F3-400 | 460 | 460 | 210 | 72
F3-450 | 510 | 510 | 230 | 72

F3-500 560 560 250 72 M i
R 1T A FE5D) AT

F3-600 | 660 | 660 | 320 | 84 o T

F3-700 780 | 780 | 370 84 \

F3-800 | 880 | 880 | 420 | 84 A A A
B 550 | o0 | 20 | F3-300~350 F3-400~600 F3-700~ 1000

F3-1000 | 1080 | 1080 | 500 84

| B
- BUEOEETRICHLDT. RemET
BESICTVIU— NP UA—CEEAN
ROMFT T, (KUJLE10.5m)

IESEESSyS

49 CHUBUBIKA



=

HIH

2R3

—

¥ __iﬂ

HIH

43X

300~

350

B
F3

Bimm

M10x100-47%
M10x100-4=&

A |B | C|P |SUST-w7yn-ft

& &

F3-300 | 350|350 | 200 72

F3-330| 400|400 | 200 72

Z X B Ik B

%

]
oo

B PEHEERRISH




T ~t——
N T CI- """ "°°°C — |
i

r—"""""""""="=""="«""""""7""7"—" "' |
WT \\\\\\\\\\ 7 JW

| I |
W, I ;

= | I |
| |
LRI [y | B
i | o N

. | o |
] O] |
Sl . |
L 1 ;
L 1 o
WF \\\\\\\\\\ 4 =/
WT \\\\\\\\\\ N JW

| I |
| | ;
o I L

! , I ,
1 it/ ,
== | I I
o Tl ! I |
P I |
| | |
LS o S
- - - - 1

Efimm

A |B | C | P |SUST-W7yn-ft

F3-400 | 460|460| 210 | 72

43X

400~

600

TR
F3

M10x100-47&
M10x100-4=%&
M10x100-4=%
M10x100-47&

%

F3-430 (| 510 |510 | 230 72

F3-500 | 560(560| 250| 72

F3-600 | 660|660 | 320| 84

= KB Ik B

%

]
oo

B PEHEERKRISH




HEAH

=

=

[

—

HIH

Emm

£
oh &8
FEPEKI
I AN
S

<l 8
340
7~1
o
o
nm—/
b1t
m=3
L
17y
_H_D
0O
=
~|®
W4mx
ik 11
._40_4
Qum e 4
XlOﬂ_v
=]k |22
7 HHE
Mlo
Ml
=
oy
84
84
84
Ol -
70
39._0
460
o 40
m :
80
7800
08%8
A_H80 -
7800
88
98
¥a | S -
00 s
h @ 212
ig| @ |c Tl
_L|3_1
_L|3_
_L|3
L




